
mini protos

Page 1

article number description category note
MSH41004 Steel Main shaft Hollow (2pcs) 01.transmission
MSH41005 Main Shaft locking ring 01.transmission
MSH41007 Motor adapter 01.transmission discontinued
MSH41014 Pinion 14T 01.transmission discontinued
MSH41015 Pinion 15T 01.transmission discontinued
MSH41016 Pinion 16T 01.transmission discontinued
MSH41017 Pinion 17T 01.transmission discontinued
MSH41018 Pinion 18T 01.transmission discontinued
MSH41034 Guide pulleys 01.transmission
MSH41035 Belt Non-Stretch 01.transmission Non-Stretch
MSH41052 Main Pulley 01.transmission
MSH41067 BB_2,5x7x2,5 (3pcs) (guide pulleys) 01.transmission
MSH41069 BB_3x6,5x2,5 (2pcs) (motor pulley & motor 3rd bearing support) 01.transmission
MSH41074 BB_6x12x4 (2pcs) (main shaft) 01.transmission
MSH41080 Steel main shaft solid 01.transmission discontinued
MSH41109 Belt Stretch Mini 01.transmission Stretch
MSH41112 Alu CNC pulley set Mini 01.transmission
MSH41136 Pinion 14T 01.transmission new improved version
MSH41137 Pinion 15T 01.transmission new improved version
MSH41138 Pinion 16T 01.transmission new improved version
MSH41023 Servo rods set 02.servo
MSH41037 Servo adapter set 02.servo
MSH41009 Ball M2x4,8 (5pcs) 03.head
MSH41010 Ball M2x2,8 (5pcs) 03.head
MSH41020 Swashplate 03.head
MSH41028 Washout uniball arm 03.head
MSH41030 Uniball Link L 03.head
MSH41039 4,5mm Main blade holders (full set) 03.head
MSH41062 SAB main blades CF 03.head
MSH41065 Thrust Bearing 4x8x3,5 (2 pcs) (main blade grip) 03.head
MSH41066 BB 2x5x2,5 (4pcs) (swash AR pin & swash driver arms) 03.head
MSH41071 BB_4x8x3 (4pcs) (main blade grip) 03.head
MSH41085 4.5mm Main blade holder PLASTIC ONLY 03.head
MSH41129 M3x20 Socket Head Cap Screw (4pcs) 03.head
MSH41094 Flybarless long stand uniball (2pcs) 03.head.fbl FBL
MSH41095 Flybarless swashplate ball 03.head.fbl FBL
MSH41096 Flybarless spindle kit 03.head.fbl FBL
MSH41097 Head dampers flybarless 03.head.fbl FBL
MSH41098 Control washout arm flybarless (full set: arms, links, bearings, spacers, pins) 03.head.fbl FBL
MSH41099 Washout arm flybarless 03.head.fbl FBL
MSH41103 Flybarless hub low, full set 03.head.fbl FBL
MSH41001 Flybar control arm 03.head.flybar flybar, discontinued
MSH41002 Spindle 03.head.flybar flybar, discontinued
MSH41003 Head dampeners 03.head.flybar
MSH41008 Flybar rod 03.head.flybar flybar, discontinued
MSH41019 Main hub 03.head.flybar flybar, discontinued
MSH41021 Washout hub 03.head.flybar flybar, discontinued
MSH41022 Head rods set 03.head.flybar flybar, discontinued
MSH41027 Washout control arm 03.head.flybar flybar, discontinued
MSH41029 Washout arm 03.head.flybar flybar, discontinued
MSH41031 Uniball Link S 03.head.flybar flybar, discontinued
MSH41036 Paddles 03.head.flybar flybar, discontinued
MSH41040 Mixers 03.head.flybar flybar, discontinued
MSH41043 Flybar carrier 03.head.flybar flybar, discontinued
MSH41077 BB 2x5x2,5 Flanged (flybar carrier) 03.head.flybar
MSH41084 Mixers PLASTIC ONLY 03.head.flybar flybar, discontinued
MSH41087 Flybar carrier (2 pcs) PLASTIC ONLY 03.head.flybar flybar, discontinued
MSH41006 Tail shaft 04.tail
MSH41032 Tail pitch slider assembly 04.tail
MSH41038 Tail blades (black) 04.tail
MSH41045 Tail pitch lever 04.tail
MSH41046 Tail rotor 04.tail
MSH41047 Tail blade holders 04.tail
MSH41048 Tall hub 04.tail
MSH41075 BB 3x6x2,5 (4pcs) (tail blade grip) 04.tail
MSH41111 Tail blades Yellow 04.tail
MSH51305 Gorilla tail blades yellow 04.tail
MSH41024 Tail control rod set Non-Stretch 04.tailboom Non-Stretch
MSH41025 Boom Non-Stretch 04.tailboom Non-Stretch, discontinued
MSH41026 Tail boom brace 04.tailboom
MSH41051 Tail servo holder 04.tailboom
MSH41100 Horizontal clamp 04.tailboom
MSH41107 Boom Stretch Mini (2 pcs) 04.tailboom Stretch, discontinued
MSH41108 Tail control rod set Stretch Mini 04.tailboom Stretch
MSH41033 Tail guide pulley 04.tailcase
MSH41044 Tail box 04.tailcase
MSH41049 Fin set assembly CF 04.tailcase
MSH41050 Fin set CF 04.tailcase



mini protos

Page 2

MSH41068 BB_2x5x2 (2pcs) (tail pitch bell crank) 04.tailcase
MSH41070 BB_4x7x2,5 (tail case guide pulley) 04.tailcase
MSH41072 BB_4x9x4 (2pcs) (tail shaft) 04.tailcase
MSH41086 Tail box PLASTIC ONLY 04.tailcase
MSH41104 Alu CNC tail pulley Mini 04.tailcase
MSH41228 Vertical fin sticker - Yellow 04.tailcase
MSH41229 Vertical fin sticker – Red 04.tailcase
MSH41000 Battery and ESC oring set 05.frame
MSH41041 Servo frames (full set) 05.frame
MSH41042 Swash AR bracket and front pulley holder 05.frame
MSH41055 Canopy mounting post (2pcs) 05.frame
MSH41056 Tail boom case 05.frame
MSH41057 Motor mount 05.frame
MSH41082 Servo frames PLASTIC ONLY (2pcs) 05.frame
MSH41088 Y motor support 05.frame
MSH41091 Carbon frame - Plastic parts 05.frame
MSH41092 CF Frame plate (2pcs) 05.frame
MSH41114 Main shaft 3rd bearing 05.frame
MSH41117 Metal servo frame (1pc) 05.frame
MSH41011 Landing gear 06.landing gear
MSH41101 Landing gear orange 06.landing gear discontinued
MSH51308 Gorilla gear Trex 450 PRO Black 06.landing gear
MSH51315 Gorilla gear Trex 450 PRO Orange 06.landing gear
MSH41081 Parted canopy FG Classic Scheme 07.canopy
MSH41118 Painted canopy FG New Scheme 07.canopy
MSH51054 Canopy grommets (4pcs) 07.canopy
MSH41073 BB_5x8x2,5 08.hardware not used anywhere? tail pitch slider?
MSH41134 M3x5 Socket set screw (5pcs) 08.hardware
MSH41061 Blade sponge holder 10.misc
MSH41102 Ball sizer 10.misc discontinued
MSH41116 Long Motor Shaft Mini Tool Set - Mini Protos 10.misc
C_Clips_22_25 HK-22/HK-25 C-Clip Kit 11.motor
HK22Bearing HK-22 Motor Bearing Kit 11.motor Ø8xØ4x3 & Ø11xØ4x4
MSH41063 MSH Scorpion Motor HKII-2221-2580KV (3S) 11.motor discontinued
MSH41078 MSH Scorpion Motor HKII-2221-2010KV (4S) 11.motor discontinued
MSH41113 MSH Scorpion Motor HKII-2221-1300KV (6S) 11.motor discontinued
MSH41115 Long motor shaft Mini Hardened 11.motor
MSH41093 ESC MSH by YGE 60 A 12.electronics discontinued
MSH41105 Kit Stretch mini w/o blades 14.conv Stretch
MSH41106 Kit Stretch Mini with SAB 350mm blades 14.conv Stretch, discontinued
MSH41502 MSHeli Mini Protos Carbon Kit naked 15.kit discontinued


